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PHYSICAL EDUCATION
PAPER IIT
Time Allowed : 2% Hours] . [Maximum Marks ; 150

Note :— This paper contains Seventy five (75) multiple choice questions, each

question carries f17o (2) marks. Attempt All questions,

5 Socialization is an interactive process between :
(A) Man and Woman (B) Politician and Judiciary
(C) Teacher and Learner (D) Men and Animals

2, In ancient Olympic, women participated in Olympics a8 ....coceeeveennnnsn. A
(A) Competitor (B) Separate event
(C) Spectator (D) Competitor only when married
3. The children needs strengthening exercises in the age of :
(A) 10-12 years (B) 6-10 years

(C) below 6 years (D) 19-25 years
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1.  gamitE aifEa € o 4o

(A) o8 I = (B) T R —Argiiersn

(C) FeAm= 3 FF T (D) &8 3 9y

9. wrd shwfgs § mieend ot % A W Aefgs § oW a9l
(A) wiaar (B) 3rEm FHTHFH
(C) =z¥= (D) wETyET wieEn

3. feq 3y # w6 T oAEA AS SAEW S H wew@ € ?

(A) 10-12 W& (B) 6-10 €&

(C) 6 ¥ ¥ i (D) 19-25 HHA
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4, All round development of an individual is possible through :
(A) Study of Mathematics
{B) Study of History
(C) Study of Physical Education
(D) Study of Geography
5. Sports pedagogy is a study of :
{A) Mental behaviour
(B) Process of teaching and coaching
(C) Sports psychology

(D) Anthropology

6. Who among the ancient Greek philosopher considered Physical Education as

a powerful means of bringing moral perfection in the youth ?
(A) Aristotle (B) Socrates

(C) Plato (D) Aristophanes
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4. =fw = waiho fBEm dve ' o
(A) 7o & FeEga |
(B) sfmm & sz R
(C) vl foen & arasw |
(D) YireT & %894 |

5. E@-USFiSl AT ¥ o
(A) TEfEs =HEEr =+
(B) fowm aiw whasw @1 whew
(C) =& wAfaaE @&
(D) =FE R fasm =

6. TAH A FWY WEE WS F ovid 3 it foen # gl § Sfew @@ @

THdal aed W= o9 7
(A) Ufdies () (B) H&Ua

(C) == (D) TfEErd==
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7. Philosophy guides human thought and action in :
(A) Education exclusively
(B) Sports and athletic endeavours
(C) Physical education activities

(D) All walks of life

8. The Olympic Mascot, an animal or human figure represents host
country’s : -
(A) Cultural Heritage (B) Legacy
(C) National Animal (D) All of these
9. Standing on tiptoe is an example of :
(A) Lever of II type (B) Lever of 1 type
(C) Lever of III type (D) Lever of VI type

10. Athletes commonly refer to abrasions as :

(A) Turf burns (B) Floor burns

(C) Cinder burns (D) All of these

T.B.C. : 16/14/ET—III 6



7. oo urifey wta ® wasy & faarl e fewed #
(A) Faa o =
(B) TE@ 2R ugeiles wEE &
(C) it foen =1 fFmed =i
(D) &9 & 99 9@l @l

8.  dofims fag @ 99at 91 999 % STEE Rl WSiYla @il @, e w9t

a9 & :
(A) Wifas fauaa # (B) THg® Tmig i
(C) U=EE g =1 (D) 3[4

9. %W & 7 W =E W |/ T o i
(A) THT WHR F & (B) W99 WER W EET
(C) wE YR &1 wat (D) 33 ¥R = @

10. Ta=g smra: @9 =1 990 § o:
(A) =% FH (B) YR F48

() TH=t 44 (D) 3 |l
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11.

12.

13.

14,

T.B.C. :

Mechanical ergogenic aid is :

(A) Conditioning and recovery procedure

(B) Clothing and equipments

(C) Narcotics

(D) Suggestions

Blood is filtered throug‘h which organ of the body ?

{A) Lungs (B) Heart

(C) Kidney (D) Spine

Brisk walking means :

(A) Slow walking (B) Walking intensely
(C) Walking with intervals (D) None of these
Mitochondria plays an important role in cell respiration and :

(A) Metabolic function (B) Blood filtration

(C) Elimination of COgy (D) Neuro transmissions
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11.

YafEa (Fifas) s s @ ¥ o

(A) =& iR fmadt wfw (B) =%F Ud IUHIT
(C) =eier werd ‘(D)gsna
12, ¥R ® FFR 3 F we feem g ¥ 2
(A) F52 (B) ®=H
() T (D) g =1 wxE
13. %aﬂﬁ!'éiﬁmmi’.:
(A) it wfg | =& (B) &9 nfa | e
(C) e | wE (D) 8 | =E Ff T
14, TEdmea wya i fAum ¥ #Av vasd whwa s
(A) J9993 & FE H
(B) @a fpegym #
(C) CO, (FE7 Esiauns) & FreFmT &
(D) =gq (@) HerRm H
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15.

16.

17.

18.

T.B.C. :

Power sports athletes generally make use of diuretics in order to :
(A) Bring stability in blood circulation
(B) Increase muscle strength

(C) Manage to loose body weight

(D) Bring tension level down

The measure cause of Achilles Tendonitis is :

(A) Staircase fall (B) Hard surface running
(C) Excessive jumping (D) Hard muscle stretching
Massage is the systematic .......ccccoeveeeeneaee. of the body tissues.

(A) Promotion (B) Demotion

(C) Manipulation (D) Application

Mannikin method is used to locate the :

(A) Force power ' (B) Weight resistance
{C) Centre of gravity (D) None of these
16/14/ET—III 10



15. o=a o9 St § s anrd: gEaYs gl &1 v 0§, wied o
(A) = H9x H deva w1 & @
(B) Maﬁmwﬁa‘,f@‘
(C) AR & 95 & HH HA & fod
(D) @ E & WL F FH w B @4

16. sifgem T=rmEfed &1 W& SAW ¥ :

(A)ﬁf?ﬁf%ﬁtﬂ. (B) FoR WaZ W BIEAl

(C) Zaiya FHE (D) =3 wEAeEr &1 ==
17. =g =afema § o YR & Fasl &1

(A) R (B) =AM

(C) df=EA (D) I9Fm

18. Afafers fafy =0 o & o2 =9 ot & 2
(A) == wfs (B) WR wiaay

(C) T =% (D) =74 q = o 7=

T.B.C. : 16/14/ET—III 11 P.T.O



19,

21.

22,

T.B.C. :

Joint of thumb is called :

(A) Gliding joint (B) Hinge joint

(C) Saddle joint ‘ (D) Pivot joint
Muscles make it possible to :

(A) Think (B) Sit and stand
(C) Speak and blink (D) Both (B) and (C)

If a body is allowed to have a free fall, at what rate will it accelerate its

velocity every second ?
(A) 20 feet (B) 32 feet
(C) 40 feet (D) 64 feet

In running and walking, the ground reaction force produced by the extension

of lower extremities results in movement, due to :
(A) Horizontal propulsion (B) Horizontal projection

(C) Vertical horizontal thrust (D) Horizontal acceleration

16/14/ET—I11 T 12



19.

20.

21.

22.

S B Wg B FEd £ :

(A) freeR 3@ g (B) F=ER =g

(C) wERR W5 . (D) #FeRRr g
wrEAYEl JeE g § o

(A) ErE (B) #F=W W @2 o
(C) wrer 3in wEw wuwE (D) (B) 3 (C) =i

wﬁéaqmﬁm%ﬁmﬁtﬁfamazﬁm%&wﬁnﬁﬁmﬁﬁ

It ?
(A) 20 W2 (B) 32 WIE
(C) 40 FI2 (D) 64 I

mmmw,mmmmmmtﬁmmw*m%

oftoms § wfa o %, fomst aee ¥
(A) #fas g (B) affs wayA

(C) wr=aq Afas wder (D) Afas o=t
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23.

25.

26.

The release angle of the discus, the angle between the velocity vector and

the horizontal should be decreased to the range of 25° to 35°, when there

is
{A) Tail wind (B) Head wind
(C) Upward wind (D) Side wind

Pronunciation, hand-writing, music¢, dance are learnt by the theory of :
(A) Conditioned respc;nse (B) Insightful learning

{C) Trial and error learning (D) Education implications

Who assumed that man is motivated primarily by social urges ?

(A) Adler (B) Cattel

(C) Jung (D) Freud

Memory is related to :

(A) Conditioning {B) Motivation

(C) Knowledge (D) Learning

T.B.C. : 16/14/ET—III 14



93, femrm = 923 Tvg AOES ok ¥fciea =™ %7 @ W ¥ 25° |/ 35°

#Hf T= H, 5F ;
(A) 2= 71 & (B) Tz s &
(C) T H TE B BB (D) 5% & B

24. Z=amm, fermm, w@fm, 79 a9a fagra g0 9@ 9w € 2
(A) =remar wfafea ] (B) smgfe ™
(C) was 2 e i M) Hfs uyE
95. ux fead O 5 W wEieE Se B BN FRivE R ¥ Ufm d ® 2
(A) TEH (B) @Hed
(C) =m (D) wEE
26. wfa gEtwm @@t ¥
(A) =mema | (B) =fasoom |

(C) 79 & (D) afirm |
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27.  Who developed the hierarchy of needs to explain human behaviour especially

motivation ?

(A) Sigmund Freud . (B} Charles Darwin

(C) Abraham Maslow (D) Carl Rogers
28. An unconditioned stimulus is refers to :

(A) Loss of response to the neutral stimulus

(B) Organism is conditioned

(C) An event, object or substance that naturally evokes

(D) None of the above

29. In which of the following, psychosexual stage of the development, pleasure

is obtained through the stimulation of the mouth :
(A) The phallic stage (B) The genital stage

(C) The oval stage (D) The oral stage

T.B.C. : 16/14/ET—III 16



217.

28.

T FEER H ged ¥ | sfinon w1 snew w9 3 vew ® wEy 55w

& fea 2
(A) Tomvs wEs (B) =red =ifas
(C) qames [ (D) = T

A Ie <fela w ¥

(A) mmﬁmmam

(B) wWvil &1 wiaasm B S

(C) fadi wem, =xg @1 WY =1 wigfad ®9 4 a1 5
(D) 39dda H | = T

frefafan 3§ & Teeiegsm fawm # fag s § 5@ 51 399 @ 2 oms

W g ¥ 2
(A) @ a7axey (B) =99 daw 3rEeyr
(C) AvEaw = (D) wifas ez
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30. Which of the following approaches of personality emphasizes ongoing inter-

action among motives, impulses and psychological processes ?
(A) Psychoanalysis

(B) Dynamic approach

(C) Types and traits approach

(D) Learning and behavioural approach

B,  “comamynrsenesitmativensi refers to our ability to organize and monitor our own
behaviour.
(A) Seif-efficiency (B) Self-esteem
(C) Self-regulation (D) Self-concept

32. Who is credited with the social learning theory ?

(A) Albert Bandura (B) Abraham Maslow

(C) John Watson (D) None of these

T.B.C. : 16/14/ET—III 18



30. fr=fafas § 3 =afaas = S v Sy, 93 o aafs ofea =1 o

T Y qetar ¥ 2

(A weTavemo

(B) wifaefier weams

(C) 7ol 3R o=l &1 v

(D) s @R =Ewfs 9=

31. e grafam ® AR WE R SEER B Hnfsa s R O &
o J
(A) w=-fAygorm (B) =|[-wama
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32. wmafes = £ fagma =1 %3 feaasy 5@ & 2
(A) TE=E a0 H (B) mmes =EEl &

(C) = ==y $) (D) =99 | 1§ 75

T.B.C. : 16/14/ET—I11 19 P.T.O.



33.

35.

T.B.C. :

If the ego fills threaten by the id and super ego, what does it do to stay in
equilibrium ?

(A) Fight back tooth and nail

(B) Use various defence mechanism

(C) Reconcile with the situation

(D) All of the above

Sports journalism in newspaper has become more demanding and achieved

a higher level of professionalism than before, so that sports reporting generally

has become more :

{A) Personalized and event oriented
(B) Analytical and responsible

(C) Stylish but focussed

(D) Responsive to changing times

Which of the following should nof come in professional ethics ?

(A) Area of the class (B) Place and time
(C) Necessary talk (D) Roll eall
16/14/ET—II1 20



33. = 3 §w ¥ g W oW @R o i feuf d §gem e w=m § 3, e
w R 7

(A) -9 | TIE FE

(B) @u@ 3 fafe= ad@i = 3@ w0
(C) w&™ H W™ GHSEa w

(D) 9% |

34. TUER-TH ¥ @ TEelm 3 TEa % geEe 39 gHn aia w5 g e

FR Fe fEcn Wy e @ T ¥ o
(A) =afEama 3R 92 39E
(B) Tavemorens 3fr IwwamE
(C) Feragyl wig HfZa
(D) #Ead 999 & AJER e
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(A) T w AR (B) wmrg i =

(C) amavgs wd (M) sufrgfa &=
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36.

37.

39.

Who is the father of scientific physical education in India ?

(A) Shri Ready Reckoner (B) Shri Harry Crow Buck
(C) Shri Y. M. Reddy (D) Shri Simon Barnes
Discipline is altered when students of unequal ............c.coee.. are made to compete

with one another.
(A) Communities (B) Strength and ability
(C) Responsibilities (D) None of these

Which is not a regular physical education diploma/degree course at

present ?
(A) M.PE. (B) P.G.D.P. Ed.
(C) B.P.E. (D) M.P. Ed.

Which of the following is not considered as one of the five curriculum

appreaches ?

(A) Behavioural rational approach
(B) Systems managerial approach
(C) Humanistic aesthetic approach

(D) Free open ended approach

T.B.C. : 16114/ET—III 22



36.

37.

39.
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41.

42,

T.B.C.

The word professional ethics refers to :
(A) Compliance of principles and values
(B) Well charted document of work plan
(C) Course of study offered by a school
(D) Work assignment

From the viewpoint of curriculum, effective education enables students

to :

(A) assimilates as much knowledge as possible

(B) make <;onnections among ideas, peoples and things

(C) learn to interact with people, pears and others fruitfully
(D) shape up traits of their personality

For sure, the best to improve teacher competency and instructional process

is to :

(A) organise periodic updating and training programme for teachers
(B) arrange frequent dialogue between students and teachers

(C) motivate teachers to do self-study and self-assessment

(D) make educational administration responsive teachers problem

¢ 16/14/ET-—I11 24




40. =EEfEE fifa gEfag ¥ o
(A) ool @ TF=ai &t guia
(B) Y=aftga wrdwe 1S
(C)wmmam‘m
(D) fAfd= =

41. UEEHH % A9 9 guEynel fwan famndt = 9em gadr ¥ e
(A) 3@l § 9§ 9EHK W[ w @ fad
(B) fa=m, &l =i =gel & g=fua 563 |
(C) T =fEadi, va 3w &in g @NEE @i @ saEeiea Wy |
(D) = ==fFma & 7 F fFaes & faa

42. Vafer drae U wftwm wEd wfEw W guT @ fed wew ¥

(A) Tog=i & &3 999-999 W & d99d SEwE 9 W SEsy
A

(B) forersf o forsdi & &g # far §am &1 e maee
(C) Tow=wl =1 snm-wvg9q 9 s-FAaaed & fod 3@ e

(D) foranm wemss =1 o=l =t swensit & wfa feawie =5
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44,

46.

T.BC. :

In order for the good instruction to be remembered well by the students, it
should be :

(A) Multi-dimensional (B) Multi-model and holistic
(C) Multi-directional and varied (D) Composite and compact

For systematic execution of the teaching plans and implementation of preseribed

curricula, the most important thing is to :

(A) keep student occupied all the time

(B) prescribe work schedule for every teacher

(C) effect work arrangement when some teachers are absent
(D) prepare a good classwise time table

A perfect demonstration of a skill by the teacher speeds up in young

children :
(A) Insight learning (B) Learning by conditioning
(C) Observational learning (D) Trial and error learning

Group consciousness and co-operation become clearly manifest in student’s

play activities during :
(A) early childhood (B) later childhood

(C) infancy (D) puberty
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45.

s Tegrd faufddl & g ar T 2 fod St ¥ w=few ?
(A) =gaE

(B) =g wieed 3R wmm (F9g0)

(C) =g-fewm A fafv=

(D) ==ifae iR HifE

frifym s Aomel 1 T R weEEE i Ealaa 3 F f@a ot aEvEs

q| ¥ :

(A) faenfeddi = w #9g =5@ @

(B) waw fouw = fou fuffm = s

(C) =o Fagmwi #1 sguieafa § & w1 wEwTE ¥y

(D) H& F ER F=H TEE-FRUT GAR FA!

fores g0 FvE w1 ga wagfas oE § gfs wm o

(A) siagie Hfamm (B) #H{mem Afa™
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47. Greater self-confidence, improved attention span and greater reasoning power

make adolescent boys and girls generally make :
{A) Hardworking (B) Competitive
(C) Co-operative ) (D) Self-reliant
48. Nutrition involves :
(A} The food price (B) Food shop
(C) The food intake (D) Financial status
49. First aider’s respongibility ends :
(A) When patient feel comfortable (B) When blood stopped
(C) When parents came (D) When doctor takes charge
50. Drinking water before and after exercises helps an athlete in :
(A) improving performance
(B) preventing cramps and dehydration
(C) improving diabetes
(D) improving endurance

51. Aecrobics type of exercise may be an effective part of a comprehensive weight

control for all of the following reasons except oneé le. :
(A) It increases metabolic rate

(B) It mobilizes free fatty acid

(C) It helps to reduce body-water stores

(D) It will increase the resting metabolic rate for several hours

T.B.C. : 16N4/ET—II1 28



47.

49.

51.

Hfighan seatava, guil ¥ waty, 3= ofes vie 4@ as% o asfad =i
aEEE: A § o
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(C) TFa7 (D) st
o wEtm o |

(A) @ = FHEa o (B) @™ ® THE A
(C) @ =t @ 9 (D) onfdw @ |

wmufas TEEs St foded o9 9urg 8 o ¥ 99

(A) WS SEEE WEgE A @ (B) WE A % WY

(C) va wfywEs a1 wnd (D) @ zER feufs d5va A
= A gwe iR wr d ol 9 faerst = veg W ® e

(A) Wyl = gura H

(B) TeA & == 3t urft =t w5t 83 F

(C) =wyfE =+ 3% F3 H

(D) Weashetal +1 F& F A

v = & o s § Q e Dfas wen ® g & g wuiaa Tl
B ¥

(A) SG9=q T F Hgra ¥

(B) wt &4 Mz H FJ@mEE F
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52.

53.

54.

High fat foods are usually found in :
(A) Fruit and vegetables
(B) Starch/bread and lean meat

(C) Medium fat meat and whole milk

(D) None of the above

In which sports might the condition of ‘anorexia athletica’ appear to be more

prevalent ?

(A) Football + Basketball (B) Swimming + Baseball

(C) Tennis + Golf (D) Bellet and Gymmastic
Which of the following is one of the principles of resistance training ?
(A) Owverload (B) Specificity

(C) Progressive resistance (D) Aerobics

Out of the following concepts of health is the earliest concept :

(A) The psycho-social concept

(B) The ecological concept

(C) The holistic concept

(D) The bio-medical concept

T RB.C. : 16/14/ET—III 30



52. T wE WU o GEEEd WE WR ¥
(A) w= in wfs=El |
(B) wHEE o ww #
(C) weaw =@ Wi 3 gE H
(D) sHF § ¥ ¥ T
53 ‘senfrEm et = fafy W A S @9 F a7
(A) HEEE + AEhA By faEfim +« awas
(c) =\ + Tew (D) & in fomaies
54, T @ = whows wfogw @ fEe 7
(A) IR (B) Tafemzan
(C) rmEt wiadrel ) TdfaEg
55. Erofafas § R Req 31 S unon e # ¥ 27
(A) TEI-ETEfSE SO

(B) wiftfeufasia smom
(C) F=ui STEERI

(D) =A-Afss e gon
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56. Phosphorous is essential for the normal development of :
(A) muscles and ligaments (B) brain and nerves
(C) bones and teeth (D) liver and pancreas

57. Apart from filtering, warming and moistering air that goes to lungs, over

nose helps in :

(A) Phonation

(B) Food discrimination

(C) Examining what not to smell

(D) Intervention

58. In linear method ... is increased in every training.
(A) Time (B) Speed
(C) Load (D) Strength

59. High load volume should precede :

(A) Low load intensity (B) High load intensity
(C) Minimum load intensity (D) Maximum load intensity
60. In fartlek methed, which aspect is not preplanned ?

(A) Surface (B) Place

(C) Pace (D) All of these
T.B.C. 2 16/14/ET—I11 32
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(A) wrgaei i €@fa =9 T (B) femm 3in dfaem
(C) === 3ir =fa (D) T AR A

57. w%m%@ﬁmmmmﬁn,aﬁﬂ afr wIvSH & Zieal w6 Hl

(A) =fF T=RT H
(B) =A * FAEEo

() = & e & fofm A

(D) TR A

ss.  wevs 3 4 ohfrm ol F agen T R
(A) 4 (B) wfa
(C) ™ (D) A

59. F°d WH ! WA w9l €
(A) FW WR H draa w (B) 3=4 WR W dr@a W
(©) e W 1 A @ (D) S=IaX W) HI draa H
60, wEw fafa ¥ wmw ww qd Fefwa W& @ 2
(A) ¥= (B) =

(C) =™ (D) 2 T+t
T.B.C. : 16114/ET—III 33 P.T.O.



61.

62.

63.

64.

Glycogen loading is found very advantageous in an activity which

predominantly involves :
(A) Speed (B} Endurance
(C) Strength . (D) Explosive strength

The phase 1 of the preparation period technique, training is chiefly
restricted to :

(A) Perfecting the skills already learned

(B) Learning new skills of other sports

(C) Improving techniques. of skill performance

(D) Acquiring strategies of wining the event

Fartlek which means “speed play” is a variation of :

(A) fast continuous (pace) method (B) Circuit training
(C) Interval methed (D) Acceleration runs

For which of the following acts in basketball, no technical foul is given :

(A) Inadvertent collision (B), Rowdiness
(C) Misconduct (D) Acts of violence
FUL wsasaenssammenypnassas sampling, the population is divided into a number of

homogeneous strata or groups.
(A) Simple random (B) Stratified

(C) Systematic (D) Sequential
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61. mmmmﬁmmﬁmﬁtmﬁvmﬁm%mm

2
(A) Tfa (B) HeAgied
(C) Trd (D) fEEnRE WEwd

62. amftaﬁaaﬂz%tmawaﬁmmgmzmﬁmw%:

(10} Mﬁmﬁéﬂaﬁﬁ.mmm

63. Wmaﬁtmﬂa,mmﬂ%:
(A) T TR TSR (B) wfwe 2
(C) FE TEH ) a4

64. ﬁqﬁmmﬁﬁ%mﬁmmwﬁ&mm:

(A) wEE-TER A (B) wmarst #
© zo= A () e #
gp, mﬁ@@mﬁﬁwﬁa&mmaﬁm
(4
(A) @ AGE (B) w@fm
(C) e (D) +94&
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67.

69.

70.

71.

Caussian curve is also known as :

(A) Bell shaped curve (B) Concave curve

(C) Middle curve (D) None of these

Health related physical fitness component is :

(A) Flexibility (B) Agility

(C) Co-ordination (D) Power

Penny cup test is used for :

(A) Volleyball (B) Tennis

(C) Basketball . (D) Football

Recumbent is used to measure :

(A) The length (B) All the body segment
(C) Length of the muscle (D) Width of the muscle
The shape of the gymnasium is generally of :

(A) Any shape (B) Rectangular shape
(C) Square shape (D) Circular shape

Which method in physical education is used in manging camps, picnics, hikes
and tracks 7

(A) Command method
(B) Group directed-practice method
(C) Project method

(D) Lecture method
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66. wffaay a% ® ST 9wl §o:

(A) WU B AR T @R A (B) #f=%a &% & ®9 H
(C) w4 9% & €9 H D) T=H | wE T
67. mammm‘mmtz
(A) TETEA (B)
(C) HHwE (D) wifEA
68. U wu whww TREE BT
(A) afcitare H (B) 2F= H
| (C) =ehzEta # - (D) HzEr@ A
go. @ Wy & fog vEWE BAVEA ¥
(A) TR (B) wrim & | WM
() wieEaeh =1 e (D) woaeht = =R
70, wm fawifomm w1 WEEER: SER B ¥
(A) fedt Wt sR H (B) FAEHR
(C) FT=HR (D) TeTEH
71. mmmﬁmmmm.ﬁm,mmmmmm
e ¥ ?
Ay Fedw agf
(B) wHe Few-wag 9gfa
() Wrme J5E
(D) WFR 9B
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72. Kraus Webber test measures :
(A) Head strength (B) Heart strength

(C) Arm strength (D) Abdomen strength

73. Planning is :
(A) What is to be done ?
(B) Who is to do what ?
(C) With what apthority ?
(D) Under what physical environment ?
74. ‘There is no better tool then null hypothesis for testing :
(A) Values of 7
(B) Reliability of the random sampie
(C) Stability of the measures of variability
(D) Significance of difference in means
75. What kind of variables are under the control of the research scholar ?
(A) Dependent variables (B) Extraneous variables

(C) Intervening variables (D) Independent variables
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79, W e whww ww o

(A) for =t w@wa = (B) B4 # AHT B
() amsEl #1 awa A (D) Tz F T &
73, F=w % o:

(A) =0 w7
(B) ¥ Fm &M
() T s & T4
D) FFw wifes e ® S
74. T EEddfew W T F fow TR e IE R
(A) 7P T A
(B) Tew fm@ #t fawEEiEm
() fafwsm & =R F A
(D) WA & T W ST
75. frad R 3w T fen we @ Aftkeew W ¥ 2
(a) feime= (B) e

(C) w=wEmn (D) IEUE=
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